—P-l’—‘

/—J‘—A

BT =W T CG2L %51

w BRPFTTRZLLAEERICG2 2725 (5 DL L -

# BERYNIOTELARG 2 2286 KT B BAICG2 28 R AR A Btk -

el‘\’l'" e
CG2L-83R
AT
8 CG2L-16 RT 1
} —I_— RS E
iz
B 2SI,
e AR HE
RTV RT | RK Y
RTNV RTN | RKN | #5285 NPN
RTPV RTP | RKP | #5255 PNP
CG2L 32t0 80
CG2L 16 t0 25
RRIESS MRS I 2R P79
KA
i CG2L-16|CG2L-20| CG2L-25 | CG2L-32 | CG2L-40 | CG2L-50 | CG2L-63 | CG2L-80
BHEATTAZmm(dia.) 10 10 12 16 20 28 32 40
SELAE (mm) 16 20 25 32 40 50 63 80
A S ZER
{s FH B JJMPa 0.2~0.6
5 AL P L P O e
LTSS -10~60 (14 to 140
SEECCR) ‘ :
{E B /2 7% (mm) +0.01
= {5 FEAER (c.p.m) 120 | 60 [ 30
450 fEAEH
AT =0 EEE
SOVEROREEIN| AME 14 25 42 74 118 187 335 500
JBE 7 550.5Mpa
N 16 28 47 82 130 204 359 525
HE(y) 100 150 190 373 600 930 1850 2880

(5) ¢ 16~ @ 25 ByAAFEEL = 20mm + ¢ 32~ ¢ 63 B ACHFEEL = 30mmiFII(E > ¢ 80~ ¢ 125 B JCHFEEL = SOmmIFFAY{H
HETCH B 5y e B HASS B




(TIE D E = TR T CG2L %51

LS

PR
BEPRAC (TS T F 2 IRV AR [ - R anBYSRAY BRI UG T 10~2008/Y TIF E R fE -
LAY ARRE S H ARy R E A B R R 2 B Bl o o Z A T SRR Z (2 -

PSEE IR

o =

AT
Ll
I
T
|
|
\
|
|

L : BRFF R

AN P IHFIRRR FH A [FISMIHFIRRE

BRI
T E 2 B By TR 2B 9O TR BB TARIMARAE T iy — @O -

FHSIE P ZERATIRRE EEINCPAVIS SN
Fo—fase M

HME AT RTEHERF HMEAHF RTEHER;

CG2L-16 CG2L-16 CG2L-20 CG2L-20
= 2| Z 30
N i -R 25
E 15 5 a0

+:< 10 | 'E< R ieoacacficoscoadboaosnfonaaadbostattooasy:
5 |- 10
0 5 1‘0 1‘5 20 25 30 0 5 1‘0 1‘5 éO 25 ?;O o 5 W 15 20 25 w0 3

HeFFEE L (mm) HeFFEE L (mm) HeFFEE L (mm) HeFFRSE L (mm)




—P-’—‘ ~

/—J‘—A

BT = TR T CG2L %J51]

RSS!

NEYRES IEYSES NEYSES ISR

CG2L-25 CG2L-25 CG2L-50 CG2L-50
60y e Thb - bbs: (i s e [ e e e
50/-0 Eloowpa RloewPa 350
[y ; ; 300
Z ~ ~
& z. Z
_R ﬁ .\R/ 250
ﬂ? e o 200
K o] £ 150]-
% % 100
‘ ‘ ‘ ‘ 50 |- bt b S
0 10 20 30 40 50 0 10 20 30 40 50 0 10 20 30 40 50 60 70 ‘ 0 10 20 30 40 50 60 70 ‘
RFFRE L (mm) HEFFESE L (mm) REFESE L (mm) HFFRE L (mm)
CG2L-32 CG2L-32 CG2L-63 CG2L-63
00 )B.*oempa : ’F—*OGMPa 500
‘ : 100 [ gt : a0l \* OGMPa :
R : : ! R = N
X 2— ¢ ¢ . K : = X oF i
20|t ERSTN R S— p— } 100 wov
0 1‘0 20 ?;0 40 50 0 1‘0 éO ?;0 40 50 0 20 40 60 E;O 1‘00 0 20 40 60 80 1‘00
REFRE L (mm) HREFEE L (mm) HEFFRE L (mm) HRFFRSE L (mm)
CG2L-40 CG2L-40 CG2L-80 CG2L-80
z z z
R R R
K K K
0 1‘0 éO 1;0 40 50 0 1‘0 20 2;0 40 50 0 20 40 60 50 0 20 40 60 80

REFRE L (mm) HFFRIE L (mm) REFRIE L (mm) REFRIE L (mm)




Dimensions
CG2L-16~25
—TT AR
) 3 N1 7
- /TT ML)
6 QQ x QA % — I @{ <
I P — | O
3-BMM
MA X MB %
PCD. @ MR OYY X YA
(B)
e
T 5T
LA, @ c
o 85 | E -
‘ %é Xl ol
‘ j £ I
i o
; Qo — c
- i
[e)]
T
N

CGZ2L

vl

3-UU X6 (#s2%)
P.C.D.MR( [l iz )

DRI L E e AR R L B

CG2L-20D

CG2L-16D

CG2L-16D

Model | A |[AB|AC|B|[C|[D|E]| G H Il |J]| K|[M|[MA|MB|MM|MR|[N1]| P | PP
CG2L-16 | 30 |30.6| 40 [43.5] 28 [30.5| 7 | 8 |5h9 %5 | 6 | 2 [125] 4 |[65| 5 [3.4| 25| 14 |18.5(23.5
CG2L-20 |36 [36.6| 45| 46 | 29[ 32| 8 [ 11 [6h9 %o | 7 | 25| 14| 4 [65] 8 [34[ 29| 14| 21| 26
CG2L-25 | 42 [42.6| 52 | 49 [31.5(34.2]| 7.8 13 |6h9 %o | 8 | 3 | 16| 45| 8 | 8 |4.5] 34 [16.5] 24 | 30
Model | Q@ |QA| QQ R TT uu X | XA XX Y [YA| YY Z | zA z2z

CG2L-16 | 4 | 5 | M3x0.5 | 12 | M3x0.5 | M3x0.5 [12.5] 2 [2H9 *29°| 11 | 2 [2H9 09| 3 | 1.5 [17HQ 00
CG2L-20 | 5 | 6 | M3x0.5 | 16 | M5x0.8 | M3x0.5 [14.5| 2 [2H9 2%°| 13 | 2 [2H9 *29%°| 3 | 1.5 [21HQ*0*?
CG2L-25 | 6 | 6 | M3x0.5 | 19 | M5x0.8 | M4x0.7 | 17 | 3 [3H9 **°°[14.5| 3 [3H9 9| 5 | 1.5 [26H9 0%




ShiE —

RATIEEH

P2 S

NG SR

CG2L #J%1]

Dimensions
CG21-32~80 T — TT #HEILED
LIk N1 N2
E TT #E4EFLGA)
1 @
0 a <
© S
3-gMM
MA x MB %
PCD. @MR 3-UU X UA @847t
. P.C.D.MR( E 5= fi%% )
6 QQXx QA%
B 22508 DYY X YA %
(B)
2 |
<:>~' ‘ =
//
— +7
o < c
85| ¢€ =
= < « ya . ~
%é ,ij ee+ >
£g L C o X
u D B
P;ﬁ%
P
Model |A|AB|AC|B|C|D|E|F |G H 1 |J|K L M [MA|{MBMM|MR|N1[N2| O | P
CG2L-32 |52 |52.6| 72 | 58 |35.5(39.6| 6 | 2 | 16 | 8h9 Gp| 11 | 45|23 [2H9 2| 5 | 8 | 8 |45|44 | 20| 8 |10.4| 34
CG2L-40 | 62 [62.6| 82| 64 [38.5(42.5| 8 | 2 | 18 | 8h9 G pss| 12 | 45 |25.5[3H9 2| 7 | 95| 11 [55|53 | 22| 9 [13.5(375
CG2L-50 | 70 [70.6|104|77.546.5(51.3| 7 | 2 |20 [10h9 %G| 14 | 5 | 32 [4H9 P%°| 8 | 9.5[14.5/55 |62 | 29 | 9 [17.7| 46
CG2L-63 | 86 |86.6[120| 89 | 51 |58.5| 7.5| 3 | 26 [12h9 %au| 17 | 5.5 | 37 [6H9 5| 10 | 11 | 17 [ 6.6 | 76 [30.5| 12 |19.5| 54
CG2L-80 |106[106.6 140 116| 70 {785 9 | 4 | 30 [14h9 %o| 20 | 6 |40.5[8H9 5| 11 | 11 | 23 | 6.6 | 95 [37.5 14 | 23.5(60.5
Model [PP| Q@ [QA| @@ [R | T| TT |UA| UU | X [XA| XX Y [YA] YY [z]za] zz
CG2L-32 | 42| 9 | 8 |[M4x0.7[24 | 3 |M5x0.8| 6 |M4x0.7| 22 | 3 |3H9 *0%°(19.5| 3 |3H9 29| 5 | 2 [34HQ 70
CG2L-40 [47.5| 9 | 8 [M4x0.7|30 | 3 |M5x0.8| 10 [M5x0.8|26.5| 4 |4H9 *2%°(23.5| 4 |4H9 29| 6 | 2 |42H9 0%
CG2L-50 | 60 | 10 | 10 |[M5x0.8(32 | 3 | M5x0.8| 10 |[M5x0.8| 31 | 4 |4H9 7%°| 28 | 4 |4H9 7%°| 6 | 2 |52H9 ™
CG2L-63 | 70 | 11 | 10 [M5x0.8( 40 | 4 |M5x0.8| 12| M6x1 | 38 | 5 |5H9 %°(34.5| 5 |5H9 *°| 7 |2.5|65H9 5"
CG2L-80 [80.5| 12 | 12 | M6x1 |50 | 5 | Rc1/8 | 12 | M6x1 |47.5| 6 |6H9 %°(43.5| 6 [6H9 ¥*°| 8 | 3 [82H9 s




1. REEER

{1158

JIVPSRT

CG2L %51

O > S P S EIAR T EE HUT

* B LA T8 ABRSREE T -

2. PAsHEIERGHTT

TATREE 48
U

2k
=]

WO 575

Hh&R-

Aok 1% A R A ErAN Nm
16 | M3x0.5 0.59
20 | M3x0.5 0.59
caa |25 | M3x0.5 0.59
Cool | 32 | Mdx0.7 1.4
40 | M4x0.7 1.4
50 | M5x0.8 2.8
63 | M5x0.8 2.8
80 | M6x1 438
100 | M8x1.25 12
CG2 155 | M10x1.5 24

A =

ARG

PYSECAS

USE]

LN

| EN R

I B S A AR MR (HO 23 7)

ARGE AL ETT E i B

JUFETL

T R

CG2, CG2L &%

AR 1 A RAHFRA Nm| mARFEARE ¢(mm)
16 M3x0.5 0.88 6
20 M3x0.5 0.88 6
25 M4x0.7 2.1 6
2
C?C?ZL 32 M4x0.7 2.1 6
40 M5x0.8 4.3 10
50 M5x0.8 4.3 10
63 M6x1 7.3 12
80 M6x1 7.3 12
100 | M8x1.25 18 16
cG2
125 | M10x1.5 36 20
@ (ARG L 0
CG2, CG2L&Y
£ 1% R A% F2H Nm
16 M3x0.5 0.88
20 M3x0.5 0.88
cG2 25 M4x0.7 2.1
CcG2aL 32 M4x0.7 2.1
40 M5x0.8 4.3
50 M5x0.8 4.3
63 M6x1 7.3
80 M6x1 7.3
100 M8x1.25 18
cG2 M10x1.5 36




	18
	19
	20
	21
	22
	23

